FER25FEE RIRFRRF AFSBRRR

Fpi25%F4H2H
a1 25 BEER |SHEEY | 6BEY | AZER
z H A 20 20 19
S X E Sk 70 19 18 18
7 FE® Xk 35 33 30
A . BEEORR | 72 70 60
= ihia BELRTL 1o 52 52 50
# - ES] 12 12 11
% L AFATTFA 20 27 26 26
= AR—VERE AR—YERE 60 96 96 91
28 25 BETH |SEEE | a%ER | AZER
BAX 15 32 31 13
_ pd Es]79°4 ] 10 22 22 11
i FEE b 15 30 28 6
3 s BEETERR 20 65 62 24
% REREE BESRTL 15 19 17 8
y EX5 15 7 7 3
A ]
ik ATATTHAY 20 20 20 9
AR—VEE AR—VRE 20 38 20 8
S8 Xz BHEER |SHAY | 6BEY | ARER
B A =T4 1 1 0
_ X ERTiE ET& i 1 i
i@ Es3ib T4 1 1 0
' wniE BEEESRR EFE 12 9 5
): RERE BESZT L £T% 8 8 5
i N EX5 T4 1 1 1
B i
Xt e Fvvs | £ 2 i 1
AR—VEE AR—VEEE =T4 11 4 3
ol 28 BRTE |EEEH | AR | AREH
i HAX 10 44 43 14
% X e 5 36 36 8
i,,: B e 10 51 49 13
z g REEDHRR 10 58 47 8
. R BELRTL 10 1 6 2
i ES3i 7 8 8 2
& Xt FFAT T A 8 23 21 8
A AR—VERE AR—VEE 10 46 29 10
i 5 HEER |SEAY | aBEN | ARER
t HAX HT4 5 5 3
e % EEXIt ET4 6 5 3
% Esxik HT4 6 5 3
g . BEESRX =T4 10 9 5
- ki BELATL £F% 2 2 0
A e ES0 =T4 1 1 1
A X Forvis | atA 5 5 3
B RAR—VEE RAIR—VBEE =T4 5 3 2
ol 28 BETR |SREEY | 6BER | AREY
t BAX =T4 1 1 1
3 X EBEXIt £ET4 1 i 0
_j’{ Es ik =T4 3 2 1
z . BEEDRX HT4 0 0 0
a1 BERE eeciso 274 2 2 1
H - ES30i T4 3 3 1
Al X e Svva | ewa i i i
c RAR—VEEEE AR—VEE =F4 2 1 0
R =12 Hewh | SEAY | aEH | ARER
X T—— Bt 10 12 9 8
N RERRT Bt 4 0 0 0
e A Bt 5 6 6 5
i F Hewh | SEAY | aREH | ARER
BAX 10 1 1 1
X EEE 10 2 2 2
& Esxie HT4 0 0 0
i . BEECRR 10 2 2 2
L BEFR lemeoaz ET4 2 2 2
£axie =ik T4 0 0 0
ATATTHAY HT4 0 0 0
AR—VEE RIR—VBE T4 0 0 0
- - hog HR BEER |SHEEY | 6BEY | AZER
L EMIE 3 4 3 3
ﬁ RxiL ATATTHAY 6 1 1 1




